
 Bearing fruit to perfection required...
1. a                       in priesthood because...

1. spiritual                           was not attained through Levitical priesthood.

2. a change of                             means a change of priesthood.

3. prophesy required a priest through                             lineage.

4. priestly order had to change from Levi to                            .

2. a                         priesthood because...
1. a different                             of priest arises like the king-priest Melchizedek.

2. legal/ancestral requirements were constrained by                            &                           .

3. the Messiah is prophesied to minister                             in                             life.

3. the Law to be                        ...
the former commandment was                             because...

1. it was                            .

2. it was                            .

3. it could not bear fruit to                            .

a better hope was                             in because...
1. it was a                             priesthood & law.

2. through it we                                                  to God.

“Drawing Near to God”
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